o | @ |
ITEM REF DESIGNATION QTY
1 9530868 FLANGE TH.3 W.3 EARTHS FOR HE 1
2 00U07028730 | THERMOSTAT SAFETY BIMETALLIC 1
KSD315-9.2 16D16R2
3 u07029600 10L-15L HMI Cover Flush 1
4 00U06843320 | LED LIGHT UHB + CONNECTOR 1
5 00U07028600 | Water drop Lens - Nanto 1
6 00U07029720 | Knob - Nanto 1
7 2150012 Screw Cone Shaped Head M4x6 mm 2
8 - REGULATION THERMOSTAT 1
9 00U07167960 | PAN HEAD SCREW M4X16 W. PZ2 1
10 00U07028650 Cable clamp - Nanto 1
11 00U07029760 | SPRING WIRE SAFETY SUPPORT 1
12 - HEATING ELEMENT 1
13 2143989 PAN HEAD SCREW M4X16 W. PZ2 2
14 2162005 ECROU HM8 ZINGUE 6
15 1630A16 DOUBLE INSULATION SPACER 1
16 U0584871 OHMIC RESIST WITH TERMINALS L75 3900HM 1
17 2145359 GALVANIZED SCREW 6X14 1
18 1830E85 SELF TAPING SCREW M4X10 vis auto 4x10 1
19 00U07125390 | WHITE PLASTIC SLEEVE - NANTO 2
20 00U07016640 | ST STEEL INLET PIPE D12 L341 US 1
10L/15L - Nanto
21 9714447 GASKET 2 LIPS 1
22 9714361 HEATING ELEMENT GASKET 1
23 9970174 MAGNESIUM ANODES PC ASEAN 1
24 00U06913510 | SELF TAPPING SCREW #4 - 3/8" 1
25 00U07028660 Reset pin - Nanto 1
i U06999970 ﬁELLSJE_SE]I[_IECS-(I)-FICAL WIRE WITH VO 1
i U07000070 I[?ETJO1W5T [IEI§2E§TRICAL WIRE WITH VO 1
i U07000260 RED ELECTRICAL WIRE WITH VO 1
[EU 1.5][L220]
- - POWER CORD 1
Date Modification Avis/DM Modif par
GROUPE drawn by checked by status ERP ID folio
ATNLANTIC cpuagseesook 0 11
creation date NANTO ASSEMBLY 10L US FLUSH-L1 PLMID REV.
28-08-2021 10:40 - 00U07173550 A
size |scale 5@ This drawing can't be, without authorization, neither copied, neither reproduced,
A2 1/4 - or communicated to thirds. Law of July 14, 1909 on the drawings and the models.

C

B




	Sheet 1
	Views
	new_view_1



